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Math CC Review 5-4 siow your work!

Solve each problem. Observe for patterns.

900 + 10 = 220+10=
100 +10 = 800 +10 =
560 + 10 = 380 +10 =

4.NBT A1

Fill in the place value chart below to show what happens when you
divide a number by powers of ten.

10 Thousands Hundreds Tens Ones
Thousand
5 0 0 0 0
50,000 + 10
5,000 = 10
500+ 10
50+10

4.NBT A1

In an average rainstorm 1,620 trillion drops will fall. What number will
this be when rounded to the nearest thousands place?
trillion drops of rain

4.NBT.3

Write each standard number in expanded form.

Standard Expanded Form
Form
106,507
2,985
80,040

4.NBT.2
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Compare using <,>,= Compare using <,>,=

903 X 100 Q 90,300 @ 725X 100

4.NBT.2 4.NBT.2

28,009 = a + 18,009

|dentify a possible value for a.
a:
Use place value to explain why your answer is correct.

4.NBT.2

Complete the pattern:

9, 18, 27, :

378, 387, 396, : :

432, 441, 450, :

All of these values are evenly divisible by 9. Complete the sentence: A
value is evenly divisible by 9 if ...

4.0A5




